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M: MATLAB{XAD

1. clear;

10=1€2; %o
mu0=4*pi*1e-7; %HEZHiFHE
c0=10*mu0/(4*pi); %A F %k
R=1.5; %[EH}:-1%
y=-2:0.04:2;

z=-2:0.04:2;

phi=0:pi/100:2*pi;
[Y,Z,PHI]=meshgrid(y,z,phi);

r=sqrt((R*cos(PHI)).A2+(Y-R*sin(PHI)).A2+Z."2);

r3=r."3;

dBy=c0*R*Z.*sin(PHI)./r3;
dBz=c0*R*(R-Y.*sin(PHI))./r3;
By=pi/20*trapz(dBy,3);
Bz=pi/20*trapz(dBz,3);

B=sqrt(By."2+Bz."2);

figure;

axis([-2,2,-2,2]);
line(R,0,'marker',".",'markersize’,30,'color','r');
line(-R,0,'marker",".",'markersize',30,'color",'r');
hold on

sz=0;

streamline(Y(:,:,1),Z2(:,:,1),By,Bz,Sy,Sz);
streamline(-Y(:,:,1),Z(:,:,1),-By,Bz,-Sy,Sz);

streamline(-Y(:,:,1),-Z(:,:,1),-By,-Bz,-Sy,-Sz);

streamline(Y(:,:,1),-Z(:,:,1),By,-Bz,Sy,-Sz);
grid on

title (' ¥R LI (1918 521", FontSize', 14)
xlabel('y");

ylabei('z');

figure

subplot(2,2,1)

mesh(Y(:,:,1),2(:,:,1),By)
title('Hitzy /> &)

xlabel('y");

ylabel('z');

subplot(2,2,2)

mesh(Y(:,:,1),Z(:,:,1),Bz)
title('Hitnzr &)

xlabel('y")

ylabel('z")

subplot(2,2,3)

mesh(Y(:,:,1),Z(:,:,1),B);

title (B3R HLIR G KN 23 A7)

Sy=[011013128], xlabel('y');
[Sy,Sz]=meshgrid(sy,sz); ylabel('Z');
zlabel('B");
S 34
B MATLABRRE B
2. clear; figure

10=1e2; % HLifi50E
mu0=4*pi*1e-7; %HEZMSH
c0=10*mu0/(4*pi); %IH3 F %k
R=1.5; % ¥1%
y=-1.0:0.05:1.0;
z=-1.0:0.05:1.0;
phi=0:pi/100:2*pi;
[Y,Z,PHI]=meshgrid(y,z,phi);

r=sqrt((R*cos(PHI)).A2+(Y-R*sin(PHI)).A2+Z.A2):

r3=r.*3;
dBy=c0*R*Z.*sin(PHI)./r3;
dBz=c0*R*(R-Y.*sin(PHI))./r3;
By=pi/20*trapz(dBy,3);
Bz=pi/20*trapz(dBz,3);
B=sqrt(By."2+Bz.*2);

subplot(2,2,1)
mesh(Y(:,:,1),Z(:,:,1),By)
view(-20,20)
title("Hi3ny &)
xlabel('y");

ylabel('z');

subplot(2,2,2)
mesh(Y(:,:,1),Z(:,:,1),Bz)
title('finz5 &)
xlabel('y")

ylabel('z")

subplot(2,2,3)
mesh(Y(:,:,1),Z(:,:,1),B);
title('[5 F FELVR IR K /N 43 A7)
xlabel('y");

ylabel('z');

zlabel('B");
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ff: MATLAB{XAD
3. clear;
figure;
R=1.5; %4
[X,Y,Z]=meshgrid(-2:0.04:2);
r2=X. 2+Y.A2+Z."2;
for k=1:101

phi=pi/50*(k-1);

r3=(r2+R"2-2*R*(X*costh+Y*sinth)).*(3/2);

BxO0(:,:,:,k)=R*Z*costh./r3;

ByO0(:,:,:,k)=R*Z*sinth./r3;

Bz0(:,:,:,k)=R*(R-X*costh-Y*sinth)./r3;
end

costh=cos(phi);sinth=sin(phi). sy o 2 mjine(X Y,Z,Bx,By,Bz,Vx,Vy,Vz,[0.1,2000]);

Bx=pi/40*trapz(Bx0,4);
By=pi/40*trapz(By0,4);
Bz=pi/40*trapz(Bz0,4);
v=[-0.85,-0.4,-0.2,0,0.2,0.4,0.6,0.85];
[Vx,Vy,Vz]=meshgrid(v,v,0);
plot3(Vx(:),Vy(:),Vz(:),'r™")

hold on;

axis([-2,2,-2,2,-2,2]);

view(3)

box on;

title ('R P 1437 it — 4 €)', 'fontsize', 15);
t=0:pi/100:2*pi;
plot(R*exp(i*t),'r-','LineWidth',3);

hold off;

4. d=0.25; %[RAFFIIALFR
y=-1.5:0.04:1.5;
z=-1.5:0.04:1.5;
phi=0:pi/100:2*pi;
[Y,Z,PHI]=meshgrid(y,z,phi);

r1=sqrt((R*cos(PHI)).*2+(Y-R*sin(PHI)).A2+(Z+d).*2);

r2=sqrt((R*cos(PHI)).A2+(Y-R*sin(PHI)).*2+(Z-d).*2);
r31=r1.73;

r32=r2.13;

dBy1=c0*R*(Z+d).*sin(PHI)./r31;
dBy2=c0*R*(Z-d).*sin(PHI)./r32;
dBz1=c0*R*(R-Y.*sin(PHI))./r31;
dBz2=c0*R*(R-Y.*sin(PHI))./r32;
By=pi/20*trapz(dBy1,3)+pi/20*trapz(dBy2,3);
Bz=pi/20*trapz(dBz1,3)+pi/20*trapz(dBz2,3);
B=sqrt(By.*2+Bz.72);

figure;

axis([-1.5,1.5,-1.5,1.5]);

line(R,d,'marker',"." 'markersize',30,'color','r');
line(-R,d,'marker", ‘.' 'markersize’',30,'color','r');
line(R,-d,'marker",".",'markersize’',30,'color",'r'");
line(-R,-
d,'marker’,
hold on
sz=0;
sy=[0.11:0.1:1.28];
[Sy,Sz]=meshgrid(sy,sz);

,'markersize',30,'color','r");

streamline(Y(:,:,1),Z(:,:,1),By,Bz,Sy,Sz);
streamline(-Y(:,:,1),Z(:,:,1),-By,Bz,-Sy,Sz);
streamline(-Y(:,:,1),-Z(:,:,1),-By,-Bz,-Sy,-Sz);
streamline(Y(:,:,1),-Z(:,:,1),By,-Bz,Sy,-Sz);
grid on

title('[E ¥4 AL I 437 73 AT, FontSize', 14)
xlabel('y");

ylabei('z');
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5. clear;

10=1e2; % HRLIL R S
mu0=4*pi*1e-7; % .23 il 5 2
c0=10*mu0/(4*pi); %A R AL
R=1.5; %A 11
d=1; %o B A (1 A4 A7
y=-1:0.04:1;

z=-1:0.04:1;

phi=0:pi/100:2*pi;

[Y,Z,PHI]=meshgrid(y,z,phi);
r1=sqrt((R*cos(PHI)).*2+(Y-R*sin(PHI)).A2+(Z+d)."2);
r2=sqrt((R*cos(PHI)).*2+(Y-R*sin(PHI)).A2+(Z-d).*2);
r31=r1.13;

r32=r2.3;

dBy1=c0*R*(Z+d).*sin(PHI)./r31;
dBy2=c0*R*(Z-d).*sin(PHI)./r32;
dBz1=c0*R*(R-Y.*sin(PH]I))./r31;
dBz2=c0*R*(R-Y.*sin(PH]I))./r32;
By=pi/20*trapz(dBy1,3)+pi/20*trapz(dBy2,3);
Bz=pi/20*trapz(dBz1,3)+pi/20*trapz(dBz2,3);

B=sqrt(By.*2+Bz."2);
figure

subplot(2,2,1)
mesh(Y(:,:,1),Z(;,:,1),By)
title('Hiizy 7 &)
xlabel('y");

ylabel('z');

subplot(2,2,2)
mesh(Y(:,:,1),Z(;,:,1),Bz)
title("#itnz5 7'
xlabel('y")

ylabel('z")

subplot(2,2,3)
mesh(Y(:,:,1),Z(:,:,1),B);
title("[E ¥4 HLIR AL 37 K /N 73 AT
xlabel('y");

ylabel('z');

(
Zlabel('B');

AR, EEE MM BHEFSHEPHNFE(LE
A IM] AR HhRAE, 2007:120-126.

5% MATLABHFZ[M]AUM . BT TRIAZ HhREL,
2011: 157-160
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